Mazenod College



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 6th December 2019 Using "UDP4" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

STUDENT GIVEN NAME(s) STUDENT SURNAME ADDRESS SUBURB STATE POST CODE PARENT/GUARDIAN MOBILE/PHONE NUMBER Delivery tick here PARENT EMAIL ADDRESS - REQUIRED SCHOOL SUPPLIED STUDENT EMAIL ADDRESS

Your home delivery order will be dispatched the week ending 10th January 2020, if placed on or before Friday 6th December 2019. Home delivery orders, placed on or before the cut-off date of Friday 6th December will have FREE delivery. Orders can still be placed after the cut-off date but a late fee of up to \$17.50 will be charged.

BOARDERS: Please tick the boarder box online and enter the School Address.



Your Campion Store 28 Kembla Way, WILLETTON WA 6155 Contact Us
08 6240 2778
wasales@campion.com.au

How to order your resources

Helping your school / college

Please be aware that shopping with Campion, your school's/college's preferred supplier, ensures you receive the correct items and editions. You are also supporting your school/college as Campion assists your school community in many ways.

Options to order

Home delivery

- Order online at <u>www.campion.com.au</u> before the date on the front of your resource list to guarantee supply of all items. All online orders must be prepaid.
- · Ordering instructions
 - 1. Log on to www.campion.com.au
 - 2. Click on Online ordering for parents and students.
 - 3. Create your account.
- Please note: Creating an account enables you to track your delivery through Australia Post, place orders for multiple students in multiple schools with just one payment, amend your order and retrieve digital access for ebooks.
 - 4. Select your school and enter in your 4-digit Resource List code, which is on the front page of this resource list.
 - 5. Select the year level and then choose the items you want to purchase. Then click on continue.
 - 6. Enter in your delivery option and complete details.
 - 7. Review and complete purchase.
 - 8. Once completed an order confirmation will be sent to your email address.
- 9. If you have purchased any ebooks you will receive a seperate activation email. You will need to follow the instructions within the email to complete the set up of each product.
- Boarders

If you wish your order to be delivered to the school, please tick the 'Boarders' box on the front of your list (where applicable) and put your boarding house address in the address field.

Late Orders

Orders can still be placed online after your school's cutoff date, however these are considered late orders and may incur additional charges. Delivery of these orders cannot be guaranteed prior to the commencement of the school year.

'While You Wait' collection service (Malaga or Willetton)

Please note long delays can be experienced in the two weeks prior to the commencement of the school year and availability of all stock lines cannot be guaranteed at this time. All back ordered items will be posted and a delivery fee will apply.

Malaga - 751 Marshall Road, Malaga (next to Stratco)



Willetton - 28 Kembla Way, Willetton



Trading Hours

Monday - Friday 9:00 am - 5:00 pm

Extended Trading Hours 8:30 am - 5:00 pm(20th Jan 2020 - 8th Feb 2020) Saturdays 8:30am - 2:00pm(Jan 25th, Feb 1st & Feb 8th 2020) Closed – Sundays & Public Holidays

Refunds

Refunds will be given on **TEXTBOOKS/WORKBOOKS ONLY** in **NEW** condition up to end of February 2020 or 2 weeks after the purchase date (whichever is later).

Digital products and Stationery items cannot be refunded.

We will gladly refund or exchange any goods deemed faulty from the manufacturer.

Have a Question?

Our website has answers to just about every question you might have, whether it's how to place your order, how to access your digital products or where to find our Retail Service Centres.

Visit www.campion.com.au/parents and find the answers you need quickly and easily.

INSTSECHDWA

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	SCHOOL RESOURCES Please note that there are digital products (eCode or cCode) on this Resource List. These items can only be ordered online, and cannot be refunded. These products are single user licences and are only valid for 1 year (unless otherwise stated).					
	YEAR 12 EBOOKS AND RESOURCES Electronic books and school-purchased resources to be purchased through Mazenod. To be charged on Term 1 fees \$10.00					
P51417	CERTIFICATE II IN ENGINEERING PATHWAYS No Text Required Safety Glasses Unisafe Wolf Clear lens An entry level pair of glasses will be supplied. If you would like your son to have higher quality glasses purchase the above pair.	1		1	14.10	14.10
	CERTIFICATE II IN INFORMATION, DIGITAL MEDIA & TEC Headphones to be retained from previous year CERTIFICATE II IN OUTDOOR RECREATION					
	No Text Required					
P55551 P05771	BIOLOGY ATAR Exercise Book A4 8mm 96 Page WA ATAR Course Study Guide Biology Year 12 [Walster, Peter]	2		1 1	1.40 54.00	1.40 54.00
P05724	CHEMISTRY ATAR WA ATAR Essential Chemistry 3&4 SB (with 2yr online access) [Lucarelli]	4		1	76.95	76.95
	Read below options & select accordingly		Choose One			
P00469	Pearson WA Chemistry 12 SB/EB Please note: If students have purchased a second hand copy of the above Pearson Chemistry WA 12, students can purchase the below reactivation code to access the digital component OR -	5		1	88.95	88.95
E02441	Digital Pearson WA Chemistry 12 (2yr Reactivation) Can only order online at www.campion.com.au – no refunds (Only purchase the reactivation code if your child has purchased a second hand copy of the above textbook. Please choose carefully as once purchased the reactivation code cannot be refunded).	6	ORDER ONLINE	= 1	25.00	25.00
	COMPUTER SCIENCE ATAR No Text Required					
	DESIGN					
P50271	Pencil (HB) Goldfaber	7		1	0.55	0.55
P52092	Pencil (2H) Goldfaber	8		1	0.55	0.55

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
D===0=	DRAMA GENERAL					
P55707	Dividers PVC A4 10 Tab Multi/Coloured	9		1	3.45	3.45
P50454 P56390	Lever Arch File A4 PVC 70 mm Blue	10		1	7.95	7.95
P56328	Loose Leaf Refills Reinforced A4 7mm Pkt 500 Pocket Plastic 11 Hole A4 Pkt 10	11 12		1	16.50 1.15	16.50 1.15
P55554	Exercise Book A4 8mm 128 Page	13		2	1.15	3.70
7 0000 1	All Drama students to supply their own stage "blacks". This includes a black t-shirt and black track suit pants.	13		۷	1.00	3.70
	DDAMA ATAD					
P55707	DRAMA ATAR Dividers PVC A4 10 Tab Multi/Coloured	14		1	3.45	3.45
P50454	Lever Arch File A4 PVC 70 mm Blue	15		1	7.95	7.95
P56390	Loose Leaf Refills Reinforced A4 7mm Pkt 500	16		1	16.50	16.50
P56328	Pocket Plastic 11 Hole A4 Pkt 10	17		1	1.15	1.15
P55554	Exercise Book A4 8mm 128 Page	18		2	1.85	3.70
	All Drama students to supply their own stage "blacks". This includes a black t-shirt and black track suit pants.	10		_	1.00	0.70
	EARTH & ENVIRONMENT SCIENCE ATAR					
P15275	WACE Spotlight Nat Earth & Environmental Science Units 3&4 [Heffernan]	19		1	69.95	69.95
P50317	Sketchmaster	20	$\overline{\Box}$	1	4.25	4.25
P55554	Exercise Book A4 8mm 128 Page	21		2	1.85	3.70
	ECONOMICS ATAR					
P16088	WA ATAR Investigating Macroeconomics 5E	22		1	82.00	82.00
P55554	Exercise Book A4 8mm 128 Page	23		2	1.85	3.70
	ENGINEERING STUDIES GENERAL					
DE4447	No Text Required	0.4	_	4	4440	44.40
P51417	Safety Glasses Unisafe Wolf Clear lens An entry level pair of glasses will be supplied. If you	24	Ц	1	14.10	14.10
	would like your son to have higher quality glasses purchase					
	the above pair.					
	ENGLISH GENERAL					
P07076	Arrival (Picture Book)(P/B) [Shaun Tan]	25		1	19.99	19.99
P55442	Display Book A4 20 Pocket Black Refillable	26		2	1.95	3.90
P55551	Exercise Book A4 8mm 96 Page	27		2	1.40	2.80
P50261	Post it Notes 73mm x 73mm 3 Neon Colours	28		1	6.80	6.80
D00447	ENGLISH ATAR					
P06447	Beach (Popular Penguin) [Alex Garland]	29		1	12.99	12.99
P04112	Hunter, The (Film Tie In) (P/B) [Julia Leigh]	30		1	19.99	19.99
P55442 P55551	Display Book A4 20 Pocket Black Refillable Exercise Book A4 8mm 96 Page	31 32		2	1.95 1.40	3.90 5.60
	LITERATURE ATAR					
P02128	No Sugar (Currency Play) [Jack Davis]	33		1	23.99	23.99
P11665	Opened Ground: Poems 1966-1996 (Faber Poetry) [Seamus Heaney]	34		1	35.00	35.00
P02939	Handmaids Tale The (Vintage) (P/B) [Margaret Atwood]	35		1	19.99	19.99
P15002	Hamlet, Prince of Denmark (New Cambridge Shakespeare) (2E) [Edwards (Ed)]	36		1	19.95	19.95
P04483	Outsider, The (Penguin Modern Classic)(Camus) [Albert Camus]	37		1	16.99	16.99
P55442	Display Book A4 20 Pocket Black Refillable	38		2	1.95	3.90
P55554	Exercise Book A4 8mm 128 Page	39		2	1.85	3.70
	Ÿ		_			

07-11-2019 16:09:41 532 YR 12 Page 4 WHITE @ Denotes Price G.S.T. Exempt

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	GEOGRAPHY ATAR					
P11733	Key Skills In Geography (Text/CD) 3E [Stacey et al]	40		1	53.95	53.95
D00040	(Retain Key Skills in Geography text from Year 11).		_		04.50	04.50
P06012 P55554	Our Global Future 2 - Change, Challenge & Response (2E) [Ford et al]	41		1	61.50	61.50
F33334	Exercise Book A4 8mm 128 Page	42		4	1.85	7.40
	HUMAN BIOLOGICAL SCIENCES ATAR					
P55551	Exercise Book A4 8mm 96 Page	43		1	1.40	1.40
P05777	WA ATAR Course Study Guide Human Biology Year 12 [Sanfelieu]	44		1	54.00	54.00
	INTEGRATED SCIENCE GENERAL					
P55554	Exercise Book A4 8mm 128 Page	45		1	1.85	1.85
	MATERIALS DESIGN & TECHNOLOGY (WOOD) GENERAL					
	No text required					
P50271	Pencil (HB) Goldfaber	46		1	0.55	0.55
P51417	Safety Glasses Unisafe Wolf Clear lens	47		1	14.10	14.10
	An entry level pair of glasses will be supplied. If you					
	would like your son to have higher quality glasses purchase the above pair.					
	MATHEMATICS ESSENTIAL GENERAL					
P52830	Calculator Casio Scientific FX-82AU Plus II	48		1	34.95	34.95
P55551	Exercise Book A4 8mm 96 Page	49		2	1.40	2.80
P55669	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	50		1	2.25	2.25
P50128	Mathaid 4 & Proliner (Formulae) (Green)	51		1	26.50	26.50
	MATHEMATICS ADDITIONS ATAB					
P09247	MATHEMATICS APPLICATIONS ATAR Creelman Exam Question Math Applications ATAR 2020 Term 1 [Shanahan	52		1	45.00	45.00
. 002	Mooney]	52			40.00	40.00
	(New Edition for 2020)					
	Due approx. March					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	53		1	249.95	249.95
P55551	Exercise Book A4 8mm 96 Page	54		2	1.40	2.80
P55669	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	55		1	2.25	2.25
P50128	Mathaid 4 & Proliner (Formulae) (Green)	56		1	26.50	26.50
	MATHEMATICS METHODS ATAR					
P17806	Creelman Exam Question Math Methods ATAR 3&4 2020 Term 1 [Tim Oates]	57		1	45.00	45.00
	(New Edition for 2020)					
D==0=0	Due approx. March					
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	58		1	249.95	249.95
P55551	Exercise Book A4 8mm 96 Page	59		2	1.40	2.80
P55669 P50128	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	60 61		1 1	2.25	2.25
F30120	Mathaid 4 & Proliner (Formulae) (Green)	61		Į.	26.50	26.50
	MATHEMATICS SPECIALIST ATAR					
P09076	Creelman Exam Question Math Specialist ATAR 3&4 2020 Term 1 [Tim Oates]	62		1	45.00	45.00
	(New Edition for 2020)					
DEE070	Due approx. March	•	_		0.40 ==	0.00.5=
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	63		1	249.95	249.95
P55551 P55669	Exercise Book A4 8mm 96 Page	64 65		2	1.40	2.80
1 33003	Graph Pad A4 1mm 25/40 Leaf 7 Hole Punched	65		1	2.25	2.25

Office Use	Description	Item No.	Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MUSIC GENERAL					
P00869	Essential Music Theory Grade 2 (1001130940) [Dr Gordon Spearrit]	66		1	14.95	14.95
P55442	Display Book A4 20 Pocket Black Refillable	67		2	1.95	3.90
P56166	Pencil (HB) Copperplate	68		1	0.45	0.45
P55522	Eraser Plastic Pencil Economy in sleeve	69		1	0.70	0.70
	All students require headphones for this unit.		_	·	00	5 5
	PHYSICAL EDUCATION GENERAL					
P55554	Exercise Book A4 8mm 128 Page	70		1	1.85	1.85
P06053	WA Physical Education Studies:A Resource for Yr 12 General [R Gaujers]	71		1	72.95	72.95
	PHYSICAL EDUCATION ATAR					
P06054	WA Physical Education Studies: A Resource for Yr 12 ATAR [M Heberle, C Middleton]	72		1	85.95	85.95
P55554	Exercise Book A4 8mm 128 Page	73		2	1.85	3.70
	PHYSICS ATAR					
	Read below options & select accordingly		Choose One			
P00528	Pearson WA Physics 12 SB/EB	74		1	88.95	88.95
	Please note: If students have purchased a second hand copy					
	of the above Pearson Physics WA 12, students can purchase					
	the below reactivation code to access the digital					
	component. - OR -					
E02443	Digital Pearson WA Physics 12 (2yr Reactivation)	75	ORDER ONLINE	≣ 1	25.00	25.00
	Can only order online at www.campion.com.au – no refunds	. 0	ONDER ONE	- '	20.00	20.00
	(Only purchase the reactivation code if your child has					
	purchased a second hand copy of the above textbook. Please					
	choose carefully as once purchased the reactivation code cannot be refunded).					
P06275	WA ATAR Exploring Physics Year 12 [Przywolnik]	76		1	37.40	37.40
1 00270		70	ш	'	37.40	37.40
	RELIGION & LIFE ATAR					
P15489	NRSV Catholic Youth Bible International Edition H/B 4E [St Mary's Press]	77		1	59.95	59.95
	(New Edition for 2020)					
P06227	Acceptable to retain 2nd Edition from last year. Compendium Of The Catechism - Pocket edn (H/B) [Hay]	78		1	15.95	15.95
1 00227	(Retain from last year)	70		'	15.95	15.95
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	79		1	2.25	2.25
P55551	Exercise Book A4 8mm 96 Page	80		1	1.40	1.40
	RELIGION & LIFE GENERAL					
P15489	NRSV Catholic Youth Bible International Edition H/B 4E [St Mary's Press]	81		1	59.95	59.95
	(New Edition for 2020)					
	(Acceptable to retain 2nd Edition from last year)					
P55151	Binder Book A4 8mm 64 Page	82		1	1.10	1.10
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	83		1	2.25	2.25

Office Use	Description	ltem No.	☑ Item Regd	Qty Read	Unit Price \$	Total Amount \$
	2000.,р.:0.:		11044	11040	11100 \$	7 4
	VISUAL ART GENERAL					
P60008	Pencil Lumograph Sketching Set of 6	84		1	14.95	14.95
P50528	Charcoal Peel & Sketch Pencil Soft	85		1	4.70	4.70
P51805	Eraser Pen shaped clic style	86	$\overline{\Box}$	1	3.65	3.65
P50207	Marker Osmer Fine Point 0.6 Black	87	$\overline{}$	1	3.90	3.90
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	88	$\overline{}$	1	5.45	5.45
P55481	Document Wallet Polydoc Foolscap Blue	89	$\bar{\Box}$	1	2.35	2.35
	VISUAL ART ATAR					
P60008	Pencil Lumograph Sketching Set of 6	90		1	14.95	14.95
P50528	Charcoal Peel & Sketch Pencil Soft	91		1	4.70	4.70
P50207	Marker Osmer Fine Point 0.6 Black	92		1	3.90	3.90
P51805	Eraser Pen shaped clic style	93		1	3.65	3.65
P58197	Visual Art Diary A4 110gsm 60 Sheet/120 Page	94		1	5.45	5.45
P55481	Document Wallet Polydoc Foolscap Blue	95		1	2.35	2.35
	GENERAL STATIONERY					
P55707	Dividers PVC A4 10 Tab Multi/Coloured	96		1	3.45	3.45
P55522	Eraser Plastic Pencil Economy in sleeve	97		1	0.70	0.70
P51353	Glue Stick Artline Purple 40gm	98		1	2.60	2.60
P50193	Highlighter Marker - Blue	99		1	1.55	1.55
P56095	Pen Ballpoint Cap Type Blue Medium	100		1	0.35	0.35
P56096	Pen Ballpoint Cap Type Red Medium	101		1	0.35	0.35
P56213	Pencil Case Name Large 340mm x 170mm	102		1	2.95	2.95
P52001	Pencil (2B) Goldfaber	103		1	0.55	0.55
P58550	Pencils-Coloured Micador Water Soluble Pkt 12's	104		1	5.65	5.65
P50240	Punch Mini 2 Hole (Ringbinder) Assorted Colours	105		1	4.50	4.50
P56414	Ruler 300mm Plastic Clear	106		1	0.75	0.75
P50465	Scissors 216mm Orange Handle	107		1	2.95	2.95
P56561	Stapler Beastie Mini 26/6 (Rexel)	108		1	7.75	7.75

Number of Boxes ticked:	
Delivery, packaging & handling	\$0.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 07/11/19)	\$

☐ Yes, please email me with information on current Year 11 and 12 Study Guides.